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Bt BEEBENERI L
£ g B - BT By B B i * &8 &

BRI 6,868,000 + 230, 655 7,098, 655
EEAGE 6, 868, 000
BEERE 230, 655
T Ot R 6,868,000 x 53.85% ( 35% +~ (1 — 35%) ) 3,698,418
KHRE 7,008, 655 + 3,698, 418 10,797, 073
—REEES 10,797,073 x 53.85% ( 35% = (1 — 35%) ) — 1,296 5,812, 927
EHMmE 10,797,073 + 5,812, 927 16,610, 000
B EEET 16,610,000 x 10.00% 1,661, 000
EBTEH 16,610,000 + 1,661, 000 18,271,000




RERRE BEEBENERI L
% # #ts - oAk i Bifi # 8 ff & i
ERR A 7,098, 655
FHE - % - REFXE 7,098, 655
BEHEERERH 7,098, 655
BEHERE 6, 868, 000
SHE#{E 415, 450
1 StE#{E 1.00 415, 450 415, 450
=%
BrinsrE 2,398, 200
2 AMRERE 1.00 259, 250 259, 250
Ea
3 TUir—rRE. REETUVY 1.00 2,138, 950 2,138,950
®
EXNR DR 3,062, 500
4 BENGEEMRFTEOEE 1.00 487, 600 487, 600
=
5 FEDHE 1.00 1,010, 600 1,010, 600
M
6 EREZATORE 1.00 1,013, 700 1,013, 700
M
TEEBRDEYFED 1.00 550, 600 550, 600
M
e - |E 540, 500
8 EATIHE 1.00 117, 400 117, 400
E1
9 hismE 2.00 117, 400 234, 800
E1
10 mfRmE 1.00 188, 300 188, 300




RERNRE BRBFEDRRI LY
% # s - Btk ik Bifi w8 f @ w =

R 451, 350
11 FHERREERK 1.00 451, 350 451, 350

M
ERREH 230, 655
EBRARE 63, 275
12 2ERARE 1.00 63, 275 63, 275

M
R 82, 000
13 XBHRR 1.00 82,000 82, 000

®
& 85, 380
T4 ek (RETER) 1.00 85,380 85, 380

®




RABER - L/ X7 — BREEENREHES
51
27 HEEHE BT
z G Bt - kT ET £ N & mE % =
BT
A 1.00 70, 900. 00 70, 900
R (D
A 1.50 62, 200. 00 93, 300
B8 (A)
A 2.50 55, 200. 00 138, 000
R (5)
A 2.50 45, 300. 00 113, 250
a &t 1EZBEN - 1.00K 415, 450. 00 415, 450
B5S:2
7 : BRRERTE 155y
z G Bt - kT ET £ N & mE % =
R (A)
A 1.50 55, 200. 00 82, 800
R (5)
A 2.50 45, 300. 00 113, 250
2T
A 2.00 31, 600. 00 63, 200
a8 B 1EZBEH - 1. 00K 259, 250. 00 259, 250
ES:3
B 7Ly — MEE. BRETYLY ETD
z G B - R ET £ EN & mE ® =
R (D
A 12. 00 62, 200. 00 746, 400
B8 (A)
A 13.50 55, 200. 00 745, 200
R (5)
A 1.50 45, 300. 00 67, 950
R (C)
A 14.50 35, 600. 00 516, 200
T
A 2.00 31, 600. 00 63, 200
a &t 1EZBED - 1. 00K 2,138, 950. 00 2,138, 950
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BREEXRNRBRAEE

&5 4
2% BENLGELZDREEOEE IEEP)
£ b 1RAE - BARTR B 2 =i ] B i &
F T HEm (%5
A 2.00 62, 200. 00 124, 400
HEm (A)
A 3.00 55, 200. 00 165, 600
Em (C)
A 2.00 35, 600. 00 71, 200
B8
A 4.00 31, 600. 00 126, 400
=1 5 YE¥HER 1,00 487, 600. 00 487, 600
&S5
2% FEDH#E IEEP)
£ b 1RAE - BARTR B 2 =i ] B i &
F T HEm (%5
A 4.00 62, 200. 00 248, 800
HEm (A)
A 6.00 55, 200. 00 331, 200
HEm (B)
A 2.00 45, 300. 00 90, 600
Em (C)
A 6.00 35, 600. 00 213, 600
B8
A 4.00 31, 600. 00 126, 400
=1 5 YE¥HES 1,00 1,010, 600. 00 1,010, 600




KRMFJ-FET/ N — SREEENRRTES
S .6
%% BEREESTOER 14y
% [z g - BIKTE ==Rivs 2 i £ W E i =
EXEETACHD)
A 4.50 62, 200. 00 279, 900
HER (A)
A 4.50 55, 200. 00 248, 400
HER (B)
A 6.00 45, 300. 00 271, 800
HER (C)
A 6.00 35, 600. 00 213, 600
=1 it YE¥HER 1,00 1,013, 700. 00 1,013, 700
&5 .1
B BENRODEYFELD 14y
% [z g - BIKTE ==Rivs 2 i £ W E i =
EXEETACHD)
A 2.00 62, 200. 00 124, 400
HER (A)
A 3.00 55, 200. 00 165, 600
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 3.00 35, 600. 00 106, 800
Hif&
A 2.00 31, 600. 00 63, 200
=1 5 YE¥HES 1,00 550, 600. 00 550, 600
&5 .8
%5 . BATE HEERD)
Z2 [ R - KT =R = -] £ W E H =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
=1 il YEZHER ;- 1.00[E 117, 400. 00 117, 400




Rifisk- T/ Svr— BESEENRRH RS
5.9
B hRERE EEP)
% [z R - KT B = il ] i =
EXEETACHD)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
= i 1EZ8EH - 1.00[E 117, 400. 00 117, 400
H5:10
&% . RRBE EEP)
% [z R - KT B = il ] i =
HEh&
A 1.00 70, 900. 00 70, 900
EXEETACH))
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
=) &t 1EZ8EH - 1.00[E 188, 300. 00 188, 300
E#5: 1
2 EBRTRREER X5y
% L] R - K& B = il ] i =
EXEETACHD)
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
HER (C)
A 3.00 35, 600. 00 106, 800
= it 1EZEERN - 1.00K 451, 350. 00 451, 350




Rifisk- T/ Svr— BESEENRRH RS
55 :12
%% BEARE X5y
£ R - KT B = il ] i &
EHERRE
= 1.00 63, 275. 00 63,275
=) &t 63, 275. 00 63, 275
H5:13
&% EBRES 1By
£ R - KT B = fifi ] s &
EEHRAE
= 1.00 82, 000. 00 82,000
= it 1EZRERN : 1.00K 82, 000. 00 82, 000
E5:14
2 RE GRETER) 1By
£ R - BAKTiE B = i ] i &
REE
=® 1.00 36, 290. 00 36, 290
XEE
= 1.00 49, 090. 00 49, 090
=) g 85, 380. 00 85, 380




